Answers with Explanations for English Test 2014

Dragonfly
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B Complete. A comma is needed after snake because “curving and bending” is a participial
phrase, describing the trail, and a dependent clause with no subject; “curving and bending”
doesn’t need a comma in between. (punctuation)

J Complete. This sentence could be written several different ways. “paved it with packed gravel”
is a dependent clause with no subject. It can’t stand alone without either punctuation or a
conjunction. (sentence structure, word choice)

D Consistent. “they” would be a pronoun referring to the county. But the sentence isn’t talking
about the county enjoying the trail. So any answer with “they” is incorrect. (parts of speech)

F Complete. H is incorrect because the sentence needs some kind of punctuation; “not on a bike .

..” is a dependent clause. A “;” doesn’t work because of the same reason, dependent clause. A
“” after bike doesn’t work because “but on ‘Luigi”” is a dependent clause. (punctuation, sentence
structure)

B Clear, Complete. We have to know who “Luigi” is in order to understand what she is riding. So
A and C are incorrect because they have nothing to do with Luigi. (style, word choice)

J Concise. Remember concise is always better according to the ACT. G,H, and J could all work
but ACT wants brevity. F is incorrect because adding nothing in front of “I” makes it a run-on
sentence. (word choice)

D Look at the clue in the question “positive, friendly attitude.” D implies that the author sees the
wheelchair as more of a pet rather than a machine. A works grammatically. So does C. But they
don’t give any personal feeling behind them. B is incorrect because a motor doesn’t “travel.”
(style)

F Consistent. Notice the pronoun use throughout the essay. The proceeding and next sentence
both start with “.” J makes the sentence incomplete with no subject. (parts of speech)

A Concise. C, and D are not necessarily incorrect, just wordy. B makes it so the sentence has no
subject. (word choice)

H Clear, Sounds right. “gently along” is a phrase that shouldn’t have any punctuation in between
it. A comma after “along” isn’t necessary with the flow of the sentence. “Gentle along” is an
awkward phrase that isn’t used. (word choice, punctuation, sentence structure)

A This one is a tough one. There has been no mention of bikes until now. B and C don’t indicate
something zooming past. “Days” might streak past but days can’t be “ridden.” (style, organization)
H Concise, Clear. F is wrong because there has to be some kind of punctuation. But the comma
in J makes this a run-on sentence. Remember a comma can’t connect two independent clauses.
It has to have a conjunction or you have to use a semicolon, colon, or period. G makes sense but
also makes it wordy. (punctuation, sentence structure)

D Concise. B would have been correct if there wasn’t a comma after “looking” because the “and”
connects the words. This sentence really doesn’t need punctuation. Keep things simple.
(punctuation)

G Possessive noun so it needs an apostrophe so F is wrong. A noun that doesn’t end in “s”
needs an ‘s. If a noun ends in “s” you would add an * after the “s.” (usage)

B First figure out if the answer is “yes” or “no.” Yes, not only does this essay accomplish that
goal, but the reasons behind the No answers are wrong. Remember, everything about the answer
has to be right in order for it to be right. A is obviously wrong because there is only one mention
of wildflowers in the whole essay.

Beneath the Streets of New York
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G Complete. In glancing at the answers, you know this question is testing where to put the
commas. Here’s some strategies: Find the subject. “New York City residents” might seem like the
subject but it is actually another prepositional phrase because of the “at.” “thousands* is the
subject. At the beginning of the sentence, “at” is a preposition beginning a prepositional phrase,
which must end with a comma (not a semicolon because it's not a complete sentence), so
immediately find any answers that have a comma after “1904.” G and J do but J adds a comma
after “thousands” which is unnecessary. Commas have to be in pairs to separate a phrase unless
they are at the beginning or end of a sentence. (punctuation, sentence structure)

C “the completion . . . Subway” is an incomplete sentence. A semicolon has to separate complete
sentences. A colon is used to list something, explain something, or expand on something. B
sound off although it is punctuated right. (punctuation, word choice)

G Complete. Take out the phrase “the first section of” and the sentence becomes incorrect. They
were not celebrating the completion of the entire New York Subway. F is correct but G is more
correct. There is no evidence in the passage thus far for H or J.

D Concise. “In under a half an hour,” or any re-wording of it, is repetitive. (word choice,
organization)

F The question gives you the clue, referring you to the first part of the sentence that talks about
“traffic jams.” Only F addresses a solution to that.

B Consistent. This one is tricky. What is “that” referring to? The proposals? Even if “that” was
correct, it is a singular pronoun that is inconsistent with proposals. “Those” might seem correct.
But the thing that resolved the challenges wasn’t necessarily the proposals but the people
working on the proposals. (word choice, organization)

J Complete. This one is also tricky. This sentence really should have commas around “William
Barclay Parsons.” None of the options have commas on both sides of it. So the best option is no
comma at all. G is incorrect because it would need a dash on the other side, as well.
(punctuation)

C “innovative” is the only adjective in all of the choices. A would only be correct if that whole
phrase was in quotes. (parts of speech)

F Concise. Complete. F is the most concise choices of F, G, and H. J makes the sentence
somewhat incomplete and we are left unsure what the digging is doing. (organization, style)

C No punctuation is needed. B would only be correct if the preposition “with” was beginning a
prepositional phrase. D is incorrect because a colon is not used after a preposition.

G Consistent. Here’s your who/whom question! Remember: “who” is a subject; “whom” is an
object, like an object of a preposition. Who begins a sentence; “whom” usually ends one. J in
incorrect because deleting the phrase makes the second part of the sentence a complete
sentence that cannot be separated by a comma. (usage)

A This refers back to the previous sentence. Many weren’t sure about the subway, however they
didn’t take long to adapt. None of the other choices convey that contrast. (word choice)

G The clue is in the question: “describe the magnitude and expansiveness of the subway.” F is a
weak attempt. H doesn’t give details about the number of people, only the size. J is completely
irrelevant.

C This question specifically is referring to the tunnel digging technique. Where, in the essay, did it
talk about that? A and B are too early. D is way out of context.

Diego Rivera: The People’s Painter
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J Consistent. The clue is in the question. The best word choice to correspond with “decline” is
“revived.” F isn’'t incorrect, neither is H. They are just not the BEST word choice.

B A, C, and D imply his work catered to the upper class, when in reality it was bringing it “to the
public.” (word choice, organization)

J Clear. Sounds right. F doesn’t sound right so you know it needs to be re-worded. Which one
re-words it the best? G is worded weird. H would have worked, though a little wordy, if there were
commas around “for his controversy.”

D Concise. “In his art” is redundant to “artistic subject.” The other choices are also wordy.

H Consistent. The word “as” is before “expansive” and naturally goes after it, as well. “Than” is
the correct use here if the word before “expansive” was something like “more.” “then” is
completely incorrect. Then tells progression, like what happens next. (word choice)

B Consistent. This pronoun is referring to “frescoes,” which is plural. None of the other choices
are plural pronouns. (usage/parts of speech)

H Complete. F and G are incorrect because a period or a semicolon makes that an incomplete
sentence. A dash cuts the sentence up abruptly. (punctuation)

C Consistent. Verb tense is being tested. Look at other verbs in this paragraph: moved, hunched,
envisioned. “Was” is the only past tense, plus the others are wordy. Concise! (parts of speech)

F Concise. You might be tempted to put a comma in between “various” and “prestigious.” That
would have been fine if there were no other commas inserted. All of the options include extra
commas.

C This information hasn’'t been mentioned before, and is not necessary for the sentence to be
gramatically correct. (To test that, take the phrase out and see if the sentence is still correct.) And
is anything but ambiguous. Sometimes finding what is wrong with each of the answers helps you
find the one that is right.

J Two independent clauses can be joined with a comma AND a conjunction. “Since” and “when”
are conjunctions but they do not convey the right meaning in the organization of the sentence.
“Thus” is a conjunctive adverb that doesn’t work, either.

B Consistent. This question is testing verb tense consistency. “Depicts” would have been the
most correct choice, if you were to look at other verbs in the paragraph: portrays, shows,
celebrates. “Depict” is the next best option.

F Again, the “no” options to this question are not correct. So, the answer has to be one of the
“yes” answers. G is completely incorrect, so the answer is F.

B Clear. Take out the prepositional phrase “by capturing . . . workers” to see what word best
leads into “celebrates.” It becomes obvious which word sounds right. (word choice, organization)
J F, G, and H all indicate a contradiction. The last sentence adds the to the meaning of the
paragraph, it doesn’t contrast it. (word choice)

After All These Years
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A Complete. The only other viable option in this sentence would be no punctuation at all. D
makes the second part an incomplete sentence. “Yet” implies a contrast. (word choice)

J Clear. Without punctuation, it is a run-on sentence. You’re not being tested on which one is
best, just which one is completely incorrect. (punctuation)

C Sounds right. A would be correct if there was a comma after “though.” The word “important”
doesn’t sound right in either answer so B and D are out. (punctuation, word choice.)

F The question gives another clue. The “narrator’s positive reaction to speaking with Joan and the
narrator’s fondness of her friend” are all valuable clues to the answer. Also there is a clue in the
beginning of the sentence: “though we had rarely spoken to each other.” (style)
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B Who is a subject. Which refers to anything other than a person. Whose is possessive.

F Refer back to the beginning of the sentence. “Through my parents” does not clump her with her
parents but rather keeps her separate, which means you need a singular pronoun. The only other
singular pronoun, “he” is completely incorrect. (parts of speech)

B Sentence 3 should be before sentence 2 because it explains why she would have been calling
to see if they could meet up. Remember, you are trying to find the best answer. (organization)

J Concise. That phrase is really repeating information already given, so F and H are
unnecessary. G is unnecessary information.

D Verb tense is being tested. “Shoned” is actually not a word. “Shone” and “shined” are the past
tenses of “shine.”(parts of speech)

H G seems like just as logical of an answer here. This one is a hard one. F is irrelevant. J is
incorrect because the sentence adds to the story and seems necessary.

A Clear. Sounds right. The sentence gives a clue here with “familiar habits.” It seems an awkward
choice of words to say, “We fell upon (or dropped by, or returned with) our familiar habits.”
Sometimes you can insert the answer choices in and the right one will stand out. (word choice)

H Clear. This question is testing location with a list of prepositional phrases. Where they “would
sit” should start with the most specific detail first and broaden from there. (parts of speech,
sentence structure)

B Consistent. “absorbed,” “engrossed,” “immersed,” and “engaged” are all synonyms for each
other. “Acquired” means to obtain and doesn’t fit here. (word choice)

H Consistent. Again, all of the words are synonyms of each other except for “along.” (parts of
speech, word choice)

A Look at the question for the clue: which one most “effectively summarizes the main idea™? B is
too specific. C was irrelevant. D, although probably true and fitting the style of the essay, doesn’t
summarize the overall idea as well as A does. (style, organization)

G The logical place for this sentence is as a transition between her childhood memories and their
lives as adults. This happens after paragraph 2.

Three Stars, Many Stories
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A Concise. Clear. Complete. A is the most concise answer. B and C are actually not
grammatically correct. B cuts the sentence short and incomplete. C includes an unnecessary
comma and is wordy. Also, we don’t attach something “because,” we attach something “to.”
(sentence structure, punctuation)

H Either you need to put a period after sets and start a whole new sentence. Or you need a
conjunction to join them. Without a conjunction, the sentence is a run-on sentence. J doesn’t work
because you would need a conjunction such as “as” to connect them. (sentence structure,
punctuation)

A remember, commas come in pairs when adding detail with a clause or phrase that isn’t
necessary for the sentence. Lift out “or constellation” and the sentence still makes sense, which
means it needs commas around it.

H This question requires you to read ahead. You could skip this question and come back to it
when you are reading that paragraph. Choice H gives the most direct and detailed reference to
Orion’s story. The other choices are all correct, but which ones gives the “clearest allusion” or hint
at his story? (style, organization, word choice)

D Clear. The clue here is in the question: “visual information.” The only answer that creates some
kind of picture you can envision in your mind is D.

G Find synonyms for “viewers.” An overseer is a boss or supervisor. (word choice)
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A Clear. The most direct connection to a “three-pronged plow” is agricultural. (style, organization,
word choice)

J This answer is concise and fits the style of the author, who up to this point has not been
personal or casual. F and G are too casual. H is too wordy. Shorter is better on the ACT when all
answers are equally correct.

A This question may seem exactly like the previous one and you might be tempted to answer D.
However, concise is only better when all answers are equally correct. Using “this” loses the
important transition that this sentence is actually talking about another example somewhere else
in Japan. That same reasoning applies to the other answer choices; neither indicate a different
example. (word choice)

G Consistent. Verb tense/form question. Which one sounds right? Sometimes that helps. “Has” is
the singular form. “Stars” is the subject. “Could of’ implies a possibility instead of an absolute
answer.

D Concise. Even in punctuation, you can overdo it. Simplify. Only one comma is needed after the
prepositional phrase starting with “in the mythology . . .” (punctuation)

J H could be correct but is more wordy than J. F and G sound weird and imply the wrong
meaning. (parts of speech)

C Classic ACT question. You must know the difference between they’re, their, and there. It is
tested in someway on almost every test. “They’re” is the contraction of “they are.” “their” is the
possessive of “they.” “there” is a place, like “over there.” (parts of speech)

G This sentence needs a semicolon if left as is; two independent clauses joined together.
Otherwise you need a conjunction like and. H is incorrect because joining the clauses with “with”
in fine, but you would have to change the verb “span” to “spanning.” J is incorrect because there
is no pronoun referring back to stars. (punctuation)

D The clue is in the question: “free of direct references to a specific cultures view of the three
stars.” A, B, and C are all still referring to Greek or Western interpretation.



Reading Section Answers with Explanations 2014

Passage 1
Literary Narrative
“From Aboard the Night Train”
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D This story is not really about riding a train, moving away from a hometown, or missing the new
home she has established. A and B can also be considered incorrect because one can conclude
from this story that the narrator is not a young adult. Too much time has past and too many
changes have happened to assume this has only been a few years.

H Find the answers that do recur: dreams, reunion scenes, and train trips are recur. Photographs
do not. That’s your answer.

B Although there is reference to Chicago, there is no definite indication she is from Chicago.

G She indicates that things have changed (so H is out), but not necessarily improved (so F is
out). No mention is made of rebuilding, only reminiscing of what once was. So G is the most
correct. Find reasons why the answers are wrong in order to find the right one.

B This one just requires you to remember details, or at least go back to categorize them. Find the
answers that fit in the past; cross them out to find the one that fits in the present.

F Again, this question requires you to categorize which list the answers options came from.

C This requires inference, reading between the lines to see what the narrator really meant.
Especially tie into the text in that paragraph: “coming back to find his whole world changed,” and
“at least without a country he left behind” both indicate a symbolic rather than literal explanation.
F How can you know this? Use of the words “honey” and “beat your dad in cribbage” give it
away. A neighbor doesn’t usually call someone “honey.” A sister would not refer to her dad as
“your dad.”

D At the end of line 60, she uses a colon to show emphasis. All of those changes “paled in
comparison” to that.

H This one can trick you! Look at the question: “news reports attributed” his knees buckling to
what? Many will put G here because it is the right answer according to what the narrator thought.
F and J are unsubstantiated.

C All of these answers are probably correct in some way. Which one best reflects what the
question is asking for: an assumption most critical for the reader to agree with? Considering the
passage is about trying to make this concept provide jobs and reduce/reuse waste, C best
encompasses ALL of the passages purpose.

Passage |l
Social Science
“Green Music in the Rain Forest”

12,

13.

F In the context of this paragraph, G and H aren’t applicable. J actually contradicts what the rest
of the paragraph talks about, which is the movement to using other woods besides quickly
depleting traditional woods.

C A and B imply negative feelings, which does not match the author’s tone. D implies something
that was never mentioned in the essay, although it could be true.
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G H could be correct, but G is more correct, and is the purpose of the essay. J has no reference
anywhere else in the passage.

D Remember, these kinds of questions refer to this specific paragraph. Some of the answers may
be correct for other paragraphs, but not this specific one. The “main function” of this paragraph is
to show other woods could be used.

H This one is tricky. H is actually partially correct. But nowhere in the passage does it say they
have become extinct. The other answers were all clearly indicated.

B Why is D not correct? Yes they may have political careers ahead of them, but that’s not the
point. It’s that their political careers will be influenced by their environmental knowledge and
experience in the forest. A and C might be true about the students, but not the reason they will
impact the survival of the rain forests.

J Easy question because the answer is clearly stated. It's just a matter of finding it. This is where
mapping the questions is beneficial because you would have watched for that statistic when you
read the passage.

A Again, an easy question if you mapped the questions as well as watched the wording in the
question. B, C, and D were all clearly listed as “traditionally” used woods. A is the substitute.

F Another easy question if you mapped the question. The answer is clearly shown, even in italics,
on lines 65-66.

Passage Il
Humanities
“Finding Philosophy”
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C Although all answers are correct in some way, C best describes his point of view.

J Again, it seems all of those answers are correct, at least at some point in his life. Butterflies are
referred to in line 54, as something that he was interested in before age 10.

A B, C, and D are all incomplete and incorrect in some way. Remember, the answer has to be
entirely correct in order to be correct.

J Clues to this are found around line 25. F and G refer to the wrong person. H refers to the wrong
thought process.

C He never negatively refers to those years of fascination with music so any negative reference in
any answer is incorrect. A and D have no supportive evidence in the passage.

F Look carefully at word choices in each answer. “Potent” and “powerful” are both initially right.
“Delicate and inevitably wasted” and “gentle” are not implied at all. So you’'ve narrowed it down to
F or G. However, the second part of G is completely incorrect.

C This is an inference question that takes practice to answer accurately. Anytime a question
refers to “context” you know that you have to do some reading between the lines and take in the
passage tone and style as a whole to get the meaning.

J You could approach this question one of two ways. You can treat it like a vocabulary test, if you
know what “rudimentary” means. (Something limited to its basic or simplest form.” However, there
is also something going on in each one of the answers. F, G, and H are all partially correct. But
each one has something incorrect in it as well. Pen and paper are not completely obsolete, G is
an opinion, and H seems dramatic.

A All three of the words have to be right in order for the answer to be right. A has the most correct
words, even though some of the other answers might have one or two correct words.

F Don't let this one trick you. Which one does NOT work? F implies something being rare and
becoming familiar.

Passage Il
Natural Science



“Consider the Eel”
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B Main idea again. All of the answers but one are correct in some way, they are just not the main
idea. C is incorrect.

H J is a plausible answer, but H was more correct because it encompasses the idea that the
adults have to travel back in order to reproduce.

D This paragraph mainly refers to what happens in the river. C is incorrect. Only one line refers to
determining the age. A is a good candidate but doesn’t really transition to the ocean.

J This question is simply finding the answer in the passage in line 13-14. You could have mapped
this question and answered it easily.

B Another easy question because the answer is in the text. It follows the previous question and is
found in line 14.

G This question is relying on some outside knowledge of the Bermuda Triangle. Legends about
the Bermuda Triangle, in particular, are not necessarily well liked or most admired. There is no
proof in the passage they are scientifically accepted.

B “Read” should almost be in quotation marks here. Just as a scientist may “read” the age of a
tree from its rings, this statement is implying that the age of an eel can be “read” or “seen” by
looking at the rings on the skull.

F The answers in this question all seem plausible because they are referenced somewhere else
in the passage. The key is to find the specific place where the eels’ pupils are mentioned. That is
found in line 60.

A Again, all of the answers have been mentioned in the text. You must specifically find where it
mentions osmosis. That is found in line 62.

F Line 82 refers to “such small larvae” as an indication it was newly hatched. This question can
be answered by finding evidence in the text.
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MATHEMATICS TEST
60 Minutes—60 Questions

DIRECTIONS: Solva sach problem, choose the correct
answer, and then fill in the comresponding oval on your
answar document.

Do not tinger over problems that take too much time.
Solve as many as you can; then retum to the others in
the fime you have left for this test.

You are permilted fo use a calculator on this test. You
may use your calculalor for eny problems you choose,

but somse of the problems may best be done without
using a calculator.

Note: Unlass otherwise stated, alf of the following should
be assumsd.

1. Hlustrative figuras are NOT necassarily drawn to scale.
2. Geometric figures lie In a plane.

3. The word Jine indicates a straight line.
4, The word average indicates anithmetic mean.

1. The weekly fee far staying at the Pleasant Lake
Campground is $20 per vehicle and $10 per person.
Last year, weekly fees were paid for v vehicles and
p persons. Which of the following cxpressions gives
the total amount, in dollars, collected for weekly fees

st year?
@ 20v+ 10p SQWMS@ H\Q\e WQW, vV

: 20+ L0y vEhioles ang cach has d
d pporsansedth A $126.00

E ormea Wiha 40T , S and  she worked 2 hours over

g: ;0(:: ip) 420 feg an

vegvesenifd as
2 Ur=956=5and g=-6, whatdocs (r + b— g){b + g)

cqual? .
@ o TG N fhe vakues o the
- e o
i (9F5-(6)(5+0)
K. 20 < (q4546)(5-0)
=(20)(-1) =
3. A copy machine makes 60 copics per minnie. A sccond
copy machinc makes 80 copies per minute. The sceond
machine starts making copics 2 minutes after the first
machine staris. Both machines stop making copies

8 minutes after the (irst machine started, Together, the
2 machines made how many copies?

o0

A. 480 prgmaching: 00opies, S 49 (i

B. 600
C. 680 (LAY

5. Jocile eamns her regular pay of $7.50 per hour for up to
40 hours of work in a week. For each hour over
40 hours of work in a week, Joelle is paid 1% times her
regulac pay. How much does Joclie cam for a weels in

which she works 42 hours?

§7.90 X 40 = $300 for 40 pours
40

D. $37800 ([ every houl over 40, Sh
E. $472.50 O(Ud ({)—’;JSO 4 (’E,J’LSQ) — ‘E?.()

= 4112
Nurhpty 11 b; 260 $11.29 X 2
and add o $
6. Which of the following mathemattcal expressions is
cquivalent to the verbal expression “A numbcr, x,
squared is 39 more than the product of 10 and X" 7

Fo2x =39 +10c A ZINGRY,X, S Oudred = X
G. 2 =3%+10x 31 [16(e = 3

H =39 -10r _
L il s g0 Pmduuggf“mandxv 10X

£=39 +10x

720 erond MACINE . 20opes,, 6 Fyh _ _
@960 f BULORES ¢ S TN éo%?es 7. If9(x - 9) =11, then x="7

Added together:

4. Marlon is bowling in a teurnament and has the highest
average after 5 games, wilh scores of 210, 225, 254,
231, and 280. In order 1o maintain this exact average,

FiFst muittiply by 9.
G(x-4) = 4X-8[ <o

A, -

B. -

<lE e

[

he ¢

00 $0 1300+ § 2250 -1p 7

what nust be Marlon’s score for his 6th game? c 11
9

E 20 Gqume uerade: w ;
231

D. 5
7 N 2 OF.
10 keep [hi evact qverage Sef up an\Z/
eaugAion:
sreermenee 2101 12510541 230 1260 X — 240

6 .
SIpHty: 1001% < 740 {gep 12001 X= (2406
6

NOw colve for X-
¥ = 240V 6— 100 =240

Mﬁﬁ%\ (add 8] v both sides)

A%=10 (divide by 9 on bothide
q 9 ,

“\Q/n) t = ”‘g ’

GO ON TO THE NEXT PAGE.
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“B.-Piscount tickets to a basketball tournament sell for
$4.00 cach. Bnrico speat $60.00 on discount tickets,
$37.50 less than i he had booght the tickets af the
regolar price. What was the regular ticket price?

F $250 4oy many fithetd did he by ?
@i G40 0N g o fickets
'S 7.50

4 each
K. $11.00 what wd eguiar pnce\

900t $37.50 = $97.9

oW divide by 15 nekels fO 5‘” ‘JD {mao;A 1<x<2 -} 3-9

9. The expression {3x — 45%)(3x + &%) is equivalent to

FOIL

(fust, suinide, ngyde, LAsH
C.

8¢ 1 16y
p. éxz—-lﬁi" D5 77%\1 “N*
E. 6~ 8}'4 -

10. A rectangle has an area of 32 squarc fect and a
petimeter of 24 feel, What is the shortost of the side
lengths, in feat, of the rectangle?

E 1

£ 1 3= x_ |
@g 3 B4 <0 ‘*i
T8 and

8t41914 =124 so Sh‘JhCST&ldB 4]

11, In AABC, the sum of the measures of 24 and 2B is
47°. What is the measure of ZC ?

4

A. 470 GunGf angles 0f g A 15
& op  alwayclgee,
é@ 332 (0 190477 =133 £C

12, In the school cafeteria, sindents choose their lunch
from 3 sandwiches, 3 soups, 4 salads, and 2 drinks.
How many different funches are possible for a student
who chooses exactly 1 sandwich, I soup, | salad, and

1 drink?

E o2 Mwiioly the tuinber of

i 12 aptiong ’rogether
)% IN3A4XDL =

13, For 2 consecutive integers, the result of adding the
smaller integer and triple the larger integer is 79. What
are the 2 integers?

14. A function f(x) is defined as f(x) = -8 What is f¢-3)7
& 72 Replde x wath -3 <o

.

H. 192 -2y ~ 8-y
n 1% f63)=-8(3)
K. 57 = ._8 q)
=
15. If 3*= 54, then which of the following must be

Plag 1t "l\'ﬂs ['OI' \M“ wnf X
i Which ¢ ng;e o}

%Dgiiigff?.“‘ Ruber does’s fﬂngf‘ "
P Iy 27-91 because ¢
E3ex g zqaj between 27 and ], thus

16. What is the least common multiple of 70, 60 and 507

F. 60 ok divisibie by 70 40 G
G. 180 Nidivbible By JOOF 80
@ 213 mx d;v;smée by nafor 50.
2,10 2 1
4 210,000 Diuigibie by AL .

¥7. Hot Shot Electronics is designing a packing bex for its
new Hne of Acoustical Qdyssey speakers. The box is a
rectangular prism of length 45 centimeters, width
30 centimeters, and volume 81,000 cubic centimeters.
What is the height, in centimeters, of the box?

Ayl Vuutnes lengihX width xherghf s0..

C 48 81000 = 45(3£)h
;. %\000=\%So -
E. 18 550 T §0th=60

18. Four points, 4, B, C, and D, lie on = circle having a
circumference of 15 units. B is 2 uniis coumerclockwxse
from A. C is 5 units clockwise from 4. D is 7 units
clockwise from A and 8 units counterelockwise from A,
What is the order of the points, starting with A and
geoing clockwise around the circle?

EARSE SF AN
@ﬁ:ﬁ:ﬁt‘é A G
. ADCB (’

19. A group of cclls grows in number as’described by the
equation y = 16(2)', where ¢ represents the mumber of
days and y represents the number of cells. According
to this formula, how many cells will be in the group at
the end of the first 5 days?

A Sequtive feans nexdfveach A 8o int=
GBS CRONGIE et g s
D. 26,27 _+3_=79 @ 512 3= 1o(2) = (6(32) = 512
E. 39,40 , E. 1,280
(1t just plugging dnswets in)
p—— 25 GO ON TO THE NEXT PAGE.
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20. The length of o rectangle is 3 times the length of a
smaller rectangle, The 2 rectanples have the same
width, The arca of the smaller rectangle is A squarce
units, The area of the larper reetangle is AA square
units. Which of the folfowing is the valuc of k7

1 I e redangie's (W@(\ ¢

7 endih fives wadlh thon
6. 1+ 1w \ergey \’eua,m)le Wil be
Wy At the drea ¢f the
OF
K. 9

[ 3

Gt

ZL {a+2b+ 3c) ~ (4a + 6h = 5¢) is cynivalent to:

A —ta-8b-2c (42h130)1 (-44-bh150)

. =dag -~
C e en Ty ramnudiag INE negahve:

=3a-4b-2c  NUW il e ke jermg go
~3a—4b + 8¢
@ ( “3d-4bhige )

22. The dimensions of the right trinngle shown below are
given in feel, What is sin 0 7

a

E 3 %
a

€ < b
i}

H. <

J. % a
a

fyrokhuse side

23. In a basketball passing drill, 5 basketbalf players stand
evenly spaced around a circle. The player with the bali
(the passer) passes it o another player {the receiver),
The recciver cannot be the player to the passer's
immediate right or lelt and cannot be the player who
fast passed the ball. A designated player begins the
drill as the first passer. This player will be the recciver
for the first time on whigp‘pass of the batl?

e

player ! will be the,

A 4th
Sth :
6th reqiver on the
B 24 fifth passy
ACT-67C-PRACTICE 26
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24, Lines p and a lie in the standard (x,¥) coordinate plane,

An cquation for linc p is y = 0.12¢ ¢ 3,000, The slope
of line nt is 0.1 greater than the slope of line p. What is
the slope of lincn ?

B2 slpesf hnepso R -
022 Slapeof iNE N= 01210 | {022

J. 1.2
K. 300

25. ‘The expression —85°(7x® — 317} is equivalent to:

26. -3]-6+8| =2

~565° + 244°
L =56x° - 24x°
C, -56x104 2457
D. -56x'% - 245"
E. -3

-5% + ¢

Remember fo dismpuuie the
hedanve (nd qdd (he
exponente!

&
)% bk -3f =
J. 6
K., 42

Mways cempufe mg%éu beoluite Value

27. In right triangle AACE below, BD is parallel o AE,

28.

and 8D is pespendicular to EC a D, The length of ac
is 20 feet, the length of BD is 3 feet, and (lf_}cnglh of
TD is 4 feet. What is the length, in feet, of AE 7

A W know that stﬁ”: Bc”
S0 Jrle=15-HL~ 60
<D

8L =5- If AC=20 this

o 10 ? VS 4 himes the

< 15 Cize of B, $0

D. 16 AC Willbe4

k17 E D4 Cxmes fhesize
of BD-

As part of a lesson on molion, students observed a cart
rolling at p comstaunl rate along a straight line. As
shown in the chart below, they recorded the distance,
y fect, of the cant fram a reference point at f-second
tatervals from ¢ = § seconds to ¢ = 5 seconds.

t 0f 1} 21 3¢ 44 5
y | M 19124129134 139

Which of the following equations represents this data?

Eoy= rel1d o subsiivie L-values o ecudhon
;; IS OndSee WRICh eBUAD GUdpUf
y=tare's ARG APPIOPNCUE V- ybunds-
" 50114 =14 5(2)4+14=29 ol
SO SNt =29 ete
GO ON TO THE NEXT PAGE.
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29, The inequality 6{x + 2} > 7{x — 5} is cquivalent (o
which of the fellowing inequalitics?

Ao w2y LX)y T(105)
C ox< 17 GXHL> T%-35 (shibufe)

¥< 374X -bX
@.t-: 47 12 %~39 .
£330 (Add 39

i‘ﬂ b Xl
38, 'The sides of a square are I cm long. One veriex of the

square is &t {2.9) on a squarce coordimate grid marked in
centimeter unils, Which of the following peints could
alsoe be a veriex of the square?

B (=}, 0)
G. (0, )
H. ( 1-1)
(4. B
(5.0

{subfiatt £x)

[$20]

5,0}

31. For AFGH, shown below, which of the following is an
expression for yin termsof x 2

F x melers G
A, x+4d L —2
B. Vx4 ) X "42_‘\} .
. virs WSl PYihagoreans iy eorem.
. +8
D. \,{‘1_16 \ﬁ:m
(&) VZ+16 ¥=Yx2tlo

32, A bag contains 12 red marbles, 5 yellow marbles, and
15 green mosbles. How many additional red marbles
must be added to the 32 marbles already in the bag so
that the probability of randomly drawing a red marble

. 3 ,
B57 want 2 ced markles.

é“) 2 have: 2 yed Marbles
. 28 3

L0320 onig n s angwers:

K. 40
2v18 30 3 50
= TS e Y
ACTHIC-PRACTIE Jitig - 90 3 27
We yvant |g moreved
Maxhles:

33. What ave the quadrants of the standard {x.3) coordinate
plane helow that contain points oa the graph of the
cyuation dx —~ 2yw § 7

A A
quadsanis I
of the
standard (xy) P X
coordinate 0
plane 1 W

o e0Uhon 1VD Y= Mt
oM. -2y=-AXtY
-7 -1 2%
=4

"A. land Hl only
B, 1,1}, and Il only
o L1, and IV only
I, HI, and IV only
E. H. 1L and IV only

34. The graph of y = ~5x* + 9 passes through (1,2a) in the
standard {x.y} coordinate plage. What is the valuc of 2 7

® 2 flugng=tandselve fory:
A I

1 -1 < -511

K. -8

35. Jerome, Kevin, and Seth sharcd a submarine sandwich.

y=4 0 1f 2074

Jerome ate % of the sandwich, Kevin ate % of the
sandwich, and Seth ate the rest. What is the ratio of

Jerome’s share to Kevin's share to Seth’s share?

A. 233: \3@/\’?1\’\,@ ;e‘m\ xe\J/mJ
i

B' 'S 13

@z 3
A NN = 324

3o e 2o

36. A particular ciscle in the standard (x,3) coordinate
plane has an equation of (x - 5)% + 3 = 38. What are
the radius of the circle, in coordinate units, and the
caordinates of the center of the circle?

ChL
LA NS rme N
B s BN T

rdivs  center  {Quthon 0f ¢ CrUe
® va o (b ()2 = 1>
Gon o o
LovE sg  (uR=Guver paind
K. 19 (<50 G0 1=z ond Cepter=(5,0)
GO ON TO THE NEXT PAGE.
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M, The figure below consists of a square and
2 semicireles, with dimensions as shown. What is the
outside perimeter, in centimeters, of the figure?
e e

g8 em—mp|

Bomn

§+ §n B

\ umtRren e = nt =
B 16 St RN = It -2”(4)
b, 324 8x - 9

E. 32§t6n Bomigemt 8 = @]

38. In the figure below, points £ and # are the midpoints
of sides AD and BC of rectangle ABCD, point G is
the intersection of AF and BE, and point H is the
intersection of CE and DF. The interior of ABCD
exeept for the interior of EGFH is shaded, What is the
ratio of the neea of EGFH 1o the arca of the shaded

region?
B F C
:
¥
G v M
?
A E b

@}g There are 3 m’an?l?s ¢uivalent
<13 0 E6FH Yhal are Shadad.
J. L6

K.

Cannot be determined from the given information

39. The coordinates of the cndpoints of €D, in the
standard {x,y) coordinate plane, are (—4,-2) ﬂi (14,2).
What is the x-coordinate of the midpoint of CD 7

Ao 0 Mudpaid 18 e average of the, 1% 8%
2w p;m- =] O
D, 9 H- - 25-3
E. 10 (il(j— y—(-z—)) = ('zg,%) =(5,0) N 3644
J The ¥ (oordinate ={5] Ep

40. What is the surface area, in square inches, of an 8-inch

41, The equations below are linear equations of u system
where a, b, and ¢ arc positive integers.
ay+bx=c
ay—bx=¢
Which of the following describes the graph of at
feast | such system of equations in the standard (x,3)
coordinate plane?
1. 2 paraliel lines

1L, 2 infersceting lines
I, Asingle line

1 only ot fines 1 y=mxth furm-

It only . . C
11t only ayibi=C — = %X;_ﬁ.
D. lorHonly

E LiLorlll  (y-hyx=¢ — ‘/f%‘%’f%—‘

ey walh fersect betause {hey
have opposife stopes:
42, According to the measurements given in the figure

below, which of the following cxpressions gives the
distance, in miles, from the boat to the dock?

@ 30 tan 52° g-boat
G. 30cos 52°
H. 30sin 52°
I 30 X
T cosSP° lighthouse

Ko mig X isopposite side of §2° Tap = q%-"?{’f}n
50 mnSZ:%@ -

43, The circle graph below shows the distribution of
registered voters, by age, for a community. Registered
voiérs are randomly sclected from this distribution to
be ealled for jury duty. What are the odds (in the age
range:not in the age range) that the first person called
for jury duty is in the age range of 25-35 years?

Distribution of Registered Voters by Age

cube? ‘
512 8x8 =64 A, 13 NOT 0 {idhge: ‘4—’(251’“18: 59
@z 9 S‘T;SO%US&MW%‘}%&“’@ é T4 Soowr 0 Wl e
» . 21:29 K ’ e
K i S s b 6 Sides o B sas 4298 WA BERed el
o4 x =304 1
ACTEICFFACTICE 28 GO ON TO THE NEXT PAGE.
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Uiss the lollowing Informatian fo answer
questions 4446,

The figure below shows the design of a circular stained-
plass pancl on display at Hopewell's Antique Shop. Seams
separate the pieces of the panel. Al red trangular pieces
shown are congruent and have a common vertex with each
adjoining triangelar picce. The 2 squares shown are
inscribed in the ciscle. The diameter of the panel is 2 fect.

44, The design of the stajned-glass panel has how many
lines of symmelry in the plans of the pancl?

9% z Showvn i prciure ahove:
8
. 16

K. Infinitely many

4S8, What is the area of the stained-glass panel, to the
negrest 1.1 sgquare foor?

® 31 Aved of Circle = TIv:

S 6 afnoe

E 126 A=ty
=T
=33

46, Kaya wants to install 3 micw circular stained-glass
window in her living room. The design of the window
will be identical to that of the panel. The diameter of
the new window will be 75% longer than the diameter
of the panel. The new window will be how many fect

in diameter? ) fQZ/f Oﬁqm W

F. L30
G. 230 Want: 197 Wng o

. 275
Yo (119)73.5]

47. In the figure below, A || €D, AE bisects £BAC, and
CE hisects ZACD. I the measure of ZBAC is 82°,
what is the measure of ZAEC?

e 3
o D
A. B6°
. 88
90°
D. 92°

E. Cannot be delermined from the given information

CBAC= 917 = £ ACL

190 92°= q9°= < ALD
0

98°- 49°= £ ACE

A = 41°449"=
LEACY LACE =

48. In the eircle shown below, chords 78 and 05 intersect
at P, which is the center of the circlc, and the measure

of ZPST is 30°. What is the degree measure of minor
arc RS 7

()U nd ‘%00 -
1 q0% =1
= LAEC

E 30°
45°
60°

@ 90°

K. Cannot be determined from the given information
APTS 5 1505 S §C Ahe W base angles
dr¢ e0ual- Abgles 0t a4 =190° fotul So
10°30°-30°= (20° Andd TR 8 STY ol lrling
G0 180™120°= 60°-
49. For what value of a would the following system of
equations have an infinite number of solutions?
2x— y=8§
6x~3y=4a .
2 OXIS 3RS 2% 60 the eludhon 2
619 3 hings eevanon 1. o §x3 24
Get this CoudR o 44

4749 40d=06
et ey

GO ON TO THE NEXT PAGE.
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Use the following information to answer
questions 50-52.

Marcia makes and sclls handerafted picture frames in
2 sizes: small and large. It takes her 2 hours to make a
small frame and 3 hours to make a large frame. The shaded
triangular region shown below is the graph of a system of
inequalitics represemting weekly constraints Marcia has
in making the frames. For making and sclling 5 small
frames and I large framcs, Marcia makes a profit of
305+ 70! dolars. Marcia sells all the frames she makes.

A

S
NG

b N

b4 LIRS U S P S N
N

SN
: \(\9.2)‘".

Tonne
1
i

number of large frames
[od ™~ & < O

6 2 4 6 8 10
nuniber of small frames

v
>
§

50, The weckly constraint represented by the horizontal
line sepment containing (9,2) means thal each week

arcia makes 2 minimum of:

@ g;nrge gmmcs. sinwe fhe fine 1 \=1,We
H 3 onby o XMW fnat she Makesa
Y. 9small frames.  MINTHIAMN Of 2 ‘Cﬁ'gt?a

frames eath Wweek:

K. 11 small frames.

51. For every hour that Marcia spends making frames in
the second week of December each year, she donates
$3 from that week’s profit to a lacal charity. This year,
Marcia made 4 farge frames and 2 smali framces in that
week. Which of the following is clesest to the percent
of that week’s profit Marcia donated to the charity?

A. 8% yse eCUAAION: 305 +70
@ 1% PG Ih g=2 dnd L=4.
D7 16% 4-30()1T0(4) = 60 + 280 4340
© P Ime 2(2) v4(3) = mesq 5 ‘
lohrs. X $3= $48 fndl 35= 147
52. What is the maximum profit Marcia can eara from the
picture frames she makes in | week?

E 8410 {q0f gif the §raph. Wh 1§

G. 3460

$540
@) S50
- $690

AOT-STC-PRACTICE 30

ihe madimime ¢ large frames. @3
50 30(0)% 70(8) = [§560

VANRVANRVANRWAN

a b

53, The determinant of a matrix [c dl equals ad - b,

What must be the valee of x for the matrix [': 2] to

have a determinant of =16 7

pelemunayl: X% ox

:’ Z S0t thad esuad oo o
' XE-4K= 1o
c. - WG 116=0
p. & Fachor Jio (%-4)(x-4) =0
&) o4

54. A formula for finding the value, A dollass, of P dolars

invested at i% interest compounded amnually for
n years is A = P(1 + 0.015)". Which of the following is
an expression for Pinterms of {, n, and A 7

A= P{1£0.01()"

F A-0617

. Solve for P by dividine
G. A+0.01i (( H)Oh,)’:/ ,)
mo(moon)  p. A
L ﬁ‘:égTjn (HO.QH.)“

A
{1 +0.011°

55. If x and y are real numbers such that x> 1 and y < —1,

then which of the following inequalities must be true?
= =7 L
A Z>1 When %<2 (nd y=-3, =y %
2 - ~_C 2
B 1=> b when x2und y=-5 {1]%= 4

A

[ol=
$-5>4-5

D 15341 whle,n X=2 tnd \}.'-1 hen
o 2 7 e ey are eduud-
E. x2>y2WM/I'\ %7 and :—l}" ,ﬂrg[/}n
@ty ey dre eoual
GO ON TO THE NEXT PAGE.
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56. Trianpgles AABC and APQR are shown below. The 58. What is the sum of the first 4 serms of the arithmetic

given side lengths are in centimeters. The arca of sequence in which the 6th teem is 8 and the 10th teem
AABC is 30 square centimeters. What is the area of is 137
APLPR, in square centimeiers? 16.5
14.5
A @ 18

Jo 2125

a
70°
A c P

kol L2345 |6 |1 (81910

E 1 feas dbind v 753 115156 6o | B (127 ]05n|3
q;gg 36= W10 Argg= XYSNiY WS HIS $15 WIS 0B $126 I
- 33

2 2 — .
XY5q70 :x\zgnnu co areq={30] 119131425165 =14.5
57. Triangle AARC is shown in the figure below. The

measure of ZA is 48°, AB = 18 em, and AC = 12 cim.

- 2 - : .
Which of the following is the lengths, in centimetess, of 59, In the equation x” + mx+u=0,m and a are intcgers

The only possible valus for x is -3. What is the value

BT of m?
{Note: For a triangle with sides of leagth a, b, and ¢ A. _g
opposite angles £A, ZB, and ZC, respectively, the law @ .(6;
of sines states Ei“‘f" = Si“!fa =$n :ﬁC and the faw of E 9
cosines states £ = a® + B — 2ab cos £C) ¥ %=-3 than (‘,{’(%)(Xf%): 0 60 Use
= : Z = 5 =
e A FOll and 2rex19=0 s0|M=6]
B
12cm
C
A T2ina 0. T lufn st o hich o s Collowing cqons s
B. i8sin40° [x+3]= 5 W UU('Q \gdmnﬁ‘ﬂ_{/_\
c. Vig-12? G. };-3{: 5 W
H. jx+5|= 3 - -
D. VIZ'+ 18 1 |x-5]= 3 LG oF @n peUaiion where
@\/fz1+ 187 - 2(12)(18) cos 40° K. |x+5]= 3 nglﬁﬁw%ﬁ 2 are poth
G
usg Law of Cosings - ) 325 v and [2t3]= v
2= 24102 2 ()1p) s 40 END OF TEST 2

C=V122119% 2(12)\18) (0340%]  STOP! DO NOT TURN THE PAGE UNTIL TOLD TO DO SO.
DO NOT RETURN TO THE PREVIOUS TEST.

ACT-STCRRACTICE 31
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Answers with Explanations for English Test 2014

Dragonfly

1.

10.

11.

12.

13.

14,

15.

B Complete. A comma is needed after snake because “curving and bending” is a participial
phrase, describing the trail, and a dependent clause with no subject; “curving and bending”
doesn't need a comma in between. (punctuation)

J Complete. This sentence could be written several different ways. “paved it with packed gravel”
is a dependent clause with no subject. it can't stand alone without either punctuation or a
conjunction. (sentence structure, word choice)

D Consistent. “they” would be a pronoun referring to the county. But the sentence isn’t talking
about the county enjoying the trail. So any answer with “they” is incorrect. (parts of speech)

F Complete. H is incorrect because the sentence needs some kind of punctuation; “not on a bike .
.." is a dependent clause. A “;” doesn’t work because of the same reason, dependent clause. A
" after bike doesn’t work because “but on ‘Luigi” is a dependent clause. (punctuation, sentence
structure)

B Clear, Complete. We have to know who “Luigi” is in order to understand what she is riding. So
A and C are incorrect because they have nothing to do with Luigi. (style, word choice)

J Concise. Remember concise is always better according to the ACT. G,H, and J could all work
but ACT wants brevity. F is incorrect because adding nothing in front of “I” makes it a run-on
sentence. (word choice)

D Look at the clue in the question “positive, friendly attitude.” D implies that the author sees the
wheelchair as more of a pet rather than a machine. A works grammatically. So does C. But they
don't give any personal feeling behind them. B is incorrect because a motor doesn't “travel.”
(style)

F Consistent. Notice the pronoun use throughout the essay. The proceeding and next sentence
both start with “1.” J makes the sentence incomplete with no subject. (parts of speech)

A Concise. C, and D are not necessarily incorrect, just wordy. B makes it so the sentence has no
subject. (word choice)

H Clear, Sounds right. “gently along” is a phrase that shouldn't have any punctuation in between
it. A comma after “along” isn’t necessary with the flow of the sentence. “Gentle along” is an
awkward phrase that isn't used. (word choice, punctuation, sentence structure)

A This one is a tough one. There has been no mention of bikes until now. B and C don't indicate
something zooming past. “Days” might streak past but days can't be “ridden.” (style, organization)
H Concise, Clear. F is wrong because there has to be some kind of punctuation. But the comma
in J makes this a run-on sentence. Remember a comma can’t connect two independent clauses.
It has to have a conjunction or you have to use a semicolon, colon, or period. G makes sense but
also makes it wordy. (punctuation, sentence structure)

D Concise. B would have been correct if there wasn't a comma after “looking” because the “and”
connects the words. This sentence really doesn't need punctuation. Keep things simple.
(punctuation)

G Possessive noun so it needs an apostrophe so F is wrong. A noun that doesn't end in “s”
needs an ‘s, If a noun ends in “s” you would add an ' after the “s.” (usage)

B First figure out if the answer is “yes” or “no.” Yes, not only does this essay accomplish that
goal, but the reasons behind the No answers are wrong. Remember, everything about the answer
has to be right in order for it to be right. A is obviously wrong because there is only one mention
of wildflowers in the whole essay.

Beneath the Streets of New York




16.

17.

18.

19.

20,

21.

22,

23,

24,

25

26.

27,

28.

29,

G Complete. In glancing at the answers, you know this question is testing where to put the
commas. Here's some strategies: Find the subject. “New York City residents” might seem like the
subject but it is actually another prepositional phrase because of the “at.” “thousands® is the
subject. At the beginning of the sentence, “at” is a preposition beginning a prepositional phrase,
which must end with a comma {not a semicolon because it's not a complete sentence), so
immediately find any answers that have a comma after “1904.” G and J do but J adds a comma
after “thousands” which is unnecessary. Commas have to be in pairs to separate a phrase unless
they are at the beginning or end of a sentence. (punctuation, sentence structure)

C “the completion . . . Subway” is an incomplete sentence. A semicolon has to separate complete
sentences. A colon is used to list something, explain something, or expand on something. B
sound off although it is punctuated right. (punctuation, word choice)

G Complete. Take out the phrase “the first section of” and the sentence becomes incorrect. They
were not celebrating the completion of the entire New York Subway. F is correct but G is more
correct. There is no evidence in the passage thus far for H or J.

D Concise. “In under a half an hour,” or any re-wording of it, is repetitive. (word choice,
organization)

F The question gives you the clue, referring you to the first part of the sentence that talks about
“traffic jams.” Only F addresses a solution to that.

B Consistent. This one is tricky. What is “that” referring to? The proposals? Even if “that” was
correct, it is a singular pronoun that is inconsistent with proposals. “Those" might seem correct.
But the thing that resolved the challenges wasn't necessarily the proposals but the people
working on the proposals. (word choice, organization)

J Complete. This one is also tricky. This sentence really should have commas around “William
Barclay Parsons.” None of the options have commas on both sides of it. So the best option is no
comma at all. G is incorrect because it would need a dash on the other side, as well.
(punctuation)

C “innovative” is the only adjective in all of the choices. A would only be correct if that whole
phrase was in quotes. (parts of speech)

F Concise. Complete. F is the most concise choices of F, G, and H. J makes the sentence
somewhat incomplete and we are left unsure what the digging is doing. (organization, style)

C No punctuation is needed. B would only be correct if the preposition “with” was beginning a
prepositional phrase. D is incorrect because a colon is not used after a preposition.

G Consistent. Here’s your who/whom question! Remember: “who” is a subject; “whom” is an
object, like an object of a preposition. Who begins a sentence; “whom” usually ends one. J in
incorrect because deleting the phrase makes the second part of the sentence a complete
sentence that cannot be separated by a comma. (usage)

A This refers back to the previous sentence, Many weren’t sure about the subway, however they
didn't take long to adapt. None of the other choices convey that contrast. (word choice)

G The clue is in the question: “describe the magnitude and expansiveness of the subway.” F is a
weak attempt. H doesn’t give details about the number of people, only the size. J is completely
irrelevant.

C This question specifically is referring to the tunnel digging technique. Where, in the essay, did it
talk about that? A and B are too early. D is way out of context.

Diego Rivera: The People’s Painter
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J Consistent. The clue is in the question. The best word choice to correspond with “decline” is
“revived.” F isn't incorrect, neither is H. They are just not the BEST word choice.

B A, C, and D imply his work catered to the upper class, when in reality it was bringing it “to the
public.” (word choice, organization)

J Clear. Sounds right. F doesn’t sound right so you know it needs to be re-worded. Which one
re-words it the best? G is worded weird. H would have worked, though a little wordy, if there were
commas around “for his controversy.”

D Concise. “In his art” is redundant to “artistic subject.” The other choices are also wordy.

H Consistent. The word “as” is before “expansive” and naturally goes after it, as well. “Than” is
the correct use here if the word before “expansive” was something like “more.” “then” is
completely incorrect. Then tells progression, like what happens next. (word choice)

B Consistent. This pronoun is referring to “frescoes,” which is plural. None of the other choices
are plural pronouns. (usage/parts of speech)

H Complete. F and G are incorrect because a period or a semicolon makes that an incomplete
sentence. A dash cuts the sentence up abruptly. (punctuation)

C Consistent. Verb tense is being tested. Look at other verbs in this paragraph: moved, hunched,
envisioned. “Was” is the only past tense, plus the others are wordy. Concise! (parts of speech)

F Concise. You might be tempted to put a comma in between “various” and “prestigious.” That
would have been fine if there were no other commas inserted. All of the options include extra
commas.

C This information hasn't been mentioned before, and is not necessary for the sentence to be
gramatically correct. (To test that, take the phrase out and see if the sentence is still correct.) And
is anything but ambiguous. Sometimes finding what is wrong with each of the answers helps you
find the one that is right.

J Two independent clauses can be joined with a comma AND a conjunction. “Since” and “when”
are conjunctions but they do not convey the right meaning in the organization of the sentence.
“Thus” is a conjunctive adverb that doesn’t work, either.

B Consistent. This question is testing verb tense consistency. “Depicts” would have been the
most correct choice, if you were to look at other verbs in the paragraph: portrays, shows,
celebrates. “Depict” is the next best option.

F Again, the “no” options to this question are not correct. So, the answer has to be one of the
“yes” answers. G is completely incorrect, so the answer is F.

B Clear. Take out the prepositional phrase “by capturing . . . workers” to see what word best
leads into “celebrates.” It becomes obvious which word sounds right. (word choice, organization)

. J F, G, and H all indicate a contradiction. The last sentence adds the to the meaning of the

paragraph, it doesn't contrast it. (word choice)

After All These Years

45,

46.

47.

48.

A Complete. The only other viable option in this sentence would be no punctuation at all. D
makes the second part an incomplete sentence. “Yet” implies a contrast. (word choice)

J Clear. Without punctuation, it is a run-on sentence. You're not being tested on which one is
best, just which one is completely incorrect. (punctuation)

C Sounds right. A would be correct if there was a comma after “though.” The word “important”
doesn't sound right in either answer so B and D are out. (punctuation, word choice.)

F The question gives another clue. The “narrator’s positive reaction to speaking with Joan and the
narrator's fondness of her friend” are all valuable clues to the answer. Also there is a clue in the
beginning of the sentence: “though we had rarely spoken to each other.” (style)
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B Who is a subject. Which refers to anything other than a person. Whose is possessive.

F Refer back to the beginning of the sentence. “Through my parents” does not clump her with her
parents but rather keeps her separate, which means you need a singular pronoun. The only other
singular pronoun, “he” is completely incorrect. (parts of speech)

B Sentence 3 should be before sentence 2 because it explains why she would have been calling
to see if they could meet up. Remember, you are trying to find the best answer. (organization)

J Concise. That phrase is really repeating information already given, so F and H are
unnecessary. G is unnecessary information.

D Verb tense is being tested. “Shoned” is actually not a word. “Shone” and “shined” are the past
tenses of “shine.”(parts of speech)

H G seems like just as logical of an answer here. This one is a hard one. F is irrelevant. J is
incorrect because the sentence adds to the story and seems necessary.

A Clear. Sounds right. The sentence gives a clue here with “familiar habits.” It seems an awkward
choice of words to say, “We fell upon (or dropped by, or returned with) our familiar habits.”
Sometimes you can insert the answer choices in and the right one will stand out. (word choice)

H Clear. This question is testing location with a list of prepositional phrases. Where they “would
sit” should start with the most specific detail first and broaden from there. (parts of speech,
sentence structure)

B Consistent. “absorbed,” “engrossed,” “immersed,” and “engaged” are all synonyms for each
other. “Acquired” means to obtain and doesn't fit here. (word choice)

H Consistent. Again, all of the words are synonyms of each other except for “along.” (parts of
speech, word choice)

A Look at the question for the clue: which one most “effectively summarizes the main idea”? B is
too specific. C was irrelevant. D, although probably true and fitting the style of the essay, doesn't
summarize the overall idea as well as A does. (style, organization)

G The logical place for this sentence is as a transition between her childhood memories and their
lives as adults. This happens after paragraph 2.

Three Stars, Many Stories
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A Concise. Clear. Complete. A is the most concise answer. B and C are actually not
grammatically correct. B cuts the sentence short and incomplete. C includes an unnecessary
comma and is wordy. Also, we don’t attach something “because,” we attach something “to.”
(sentence structure, punctuation)

H Either you need to put a period after sets and start a whole new sentence. Or you need a
conjunction to join them. Without a conjunction, the sentence is a run-on sentence. J doesn't work
because you would need a conjunction such as “as” to connect them. (sentence structure,
punctuation)

A remember, commas come in pairs when adding detail with a clause or phrase that isn’t
necessary for the sentence. Lift out “or constellation” and the sentence still makes sense, which
means it needs commas around it.

H This question requires you to read ahead. You could skip this question and come back to it
when you are reading that paragraph. Choice H gives the most direct and detailed reference to
Orion’s story. The other choices are all correct, but which ones gives the “clearest allusion” or hint
at his story? (style, organization, word choice)

D Clear. The clue here is in the question: “visual information.” The only answer that creates some
kind of picture you can envision in your mind is D.

G Find synonyms for “viewers.” An overseer is a boss or supervisor. (word choice)
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A Clear. The most direct connection to a “three-pronged plow” is agricultural. (style, organization,
word choice)

J This answer is concise and fits the style of the author, who up to this point has not been
personal or casual. F and G are too casual. H is too wordy. Shorter is better on the ACT when all
answers are equally correct.

A This question may seem exactly like the previous one and you might be tempted to answer D.
However, concise is only better when all answers are equally correct. Using “this” loses the
important transition that this sentence is actually talking about another example somewhere else
in Japan. That same reasoning applies to the other answer choices; neither indicate a different
example. (word choice)

G Consistent. Verb tense/form question. Which one sounds right? Sometimes that helps. “Has” is
the singular form. “Stars” is the subject. “Could of” implies a possibility instead of an absolute
answer.

D Concise. Even in punctuation, you can overdo it. Simplify. Only one comma is needed after the
prepositional phrase starting with “in the mythology . . .” (punctuation)

J H could be correct but is more wordy than J. F and G sound weird and imply the wrong
meaning. (parts of speech)

C Classic ACT question. You must know the difference between they're, their, and there. Itis
tested in someway on almost every test. “They’re” is the contraction of “they are.” “their” is the
possessive of “they.” “there” is a place, like “over there.” (parts of speech)

G This sentence needs a semicolon if left as is; two independent clauses joined together.
Otherwise you need a conjunction like and. H is incorrect because joining the clauses with “with”
in fine, but you would have to change the verb “span” to “spanning.” J is incorrect because there
is no pronoun referring back to stars. (punctuation)

D The clue is in the question: “free of direct references to a specific cultures view of the three
stars.” A, B, and C are all still referring to Greek or Western interpretation.
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Passage 1
Literary Narrative
“From Aboard the Night Train”

1.

124

10.

1.

D This story is not really about riding a train, moving away from a hometown, or missing the new
home she has established. A and B can also be considered incorrect because one can conclude

from this story that the narrator is not a young adult. Too much time has past and too many

changes have happened to assume this has only been a few years.

H Find the answers that do recur: dreams, reunion scenes, and train trips are recur. Photographs

do not. That's your answer.

B Aithough there is reference to Chicago, there is no definite indication she is from Chicago.

G She indicates that things have changed (so H is out), but not necessarily improved (so F is

out). No mention is made of rebuilding, only reminiscing of what once was. So G is the most

correct. Find reasons why the answers are wrong in order to find the right one.

B This one just requires you to remember details, or at least go back to categorize them. Find the

answers that fit in the past; cross them out to find the one that fits in the present.

F Again, this question requires you to categorize which list the answers options came from.

C This requires inference, reading between the lines to see what the narrator really meant.
Especially tie into the text in that paragraph: “coming back to find his whole world changed,” and
“at least without a country he left behind” both indicate a symbalic rather than literal explanation.
F How can you know this? Use of the words “honey" and “beat your dad in cribbage” give it
away. A neighbor doesn’t usually call someone "honey.” A sister would not refer to her dad as
“your dad.” v

D At the end of line 60, she uses a colon to show emphasis. All of those changes “paled in
comparison” to that.

H This one can trick you! Look at the question: “news reports attributed” his knees buckling to

what? Many will put G here because it is the right answer according to what the narrator thought.
F and J are unsubstantiated.

C All of these answers are probably correct in some way. Which one best reflects what the
question is asking for: an assumption most critical for the reader to agree with? Considering the
passage is about trying to make this concept provide jobs and reduce/reuse waste, C best
encompasses ALL of the passages purpose.

Passage i
Social Science
“Green Music in the Rain Forest’

12. F In the context of this paragraph, G and H aren’t applicable. J actually contradicts what the rest

of the paragraph talks about, which is the movement to using other woods besides quickly
depleting traditional woods.

13. C A and B imply negative feelings, which does not match the author’s tone. D implies something

that was never mentioned in the essay, although it could be true.
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20.

G H could be correct, but G is more correct, and is the purpose of the essay. J has no reference
anywhere else in the passage.

D Remember, these kinds of questions refer to this specific paragraph. Some of the answers may
be correct for other paragraphs, but not this specific one. The “main function” of this paragraph is
to show other woods could be used.

H This one is tricky. H is actually partially correct. But nowhere in the passage does it say they
have become extinct. The other answers were all clearly indicated.

B Why is D not correct? Yes they may have political careers ahead of them, but that's not the
point. it's that their political careers will be influenced by their environmental knowledge and
experience in the forest. A and C might be true about the students, but not the reason they will
impact the survival of the rain forests.

J Easy question because the answer is clearly stated. It's just a matter of finding it. This is where
mapping the questions is beneficial because you would have watched for that statistic when you
read the passage.

A Again, an easy question if you mapped the questions as well as watched the wording in the
question. B, C, and D were all clearly listed as “traditionally” used woods. A is the substitute.

F Another easy question if you mapped the question. The answer is clearly shown, even in italics,
on lines 65-66.

Passage lli
Humanities
“Finding Philosophy”

21,
22,
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27.

28.

29.

30.

C Although all answers are correct in some way, C best describes his point of view.

J Again, it seems all of those answers are correct, at least at some point in his life. Butterflies are
referred to in line 54, as something that he was interested in before age 10.

A B, C, and D are all incomplete and incorrect in some way. Remember, the answer has to be
entirely correct in order {o be correct.

J Clues to this are found around line 25. F and G refer to the wrong person. H refers to the wrong
thought process.

C He never negatively refers to those years of fascination with music so any negative reference in
any answer is incorrect. A and D have no supportive evidence in the passage.

F Look carefully at word choices in each answer. “Potent” and “powerful” are both jnitially right.
“Delicate and inevitably wasted” and “gentle” are not implied at all. So you've narrowed it down to
F or G. However, the second part of G is completely incorrect.

C This is an inference question that takes practice to answer accurately. Anytime a question
refers to “context” you know that you have to do some reading between the lines and take in the
passage tone and style as a whole to get the meaning.

J You could approach this question one of two ways. You can treat it like a vocabulary test, if you
know what “rudimentary” means. (Something limited to its basic or simplest form.” However, there
is also something going on in each one of the answers. F, G, and H are all partially correct. But
each one has something incorrect in it as well. Pen and paper are not completely obsolete, G is
an opinion, and H seems dramatic.

A All three of the words have to be right in order for the answer to be right. A has the most correct
words, even though some of the other answers might have one or two correct words,

F Don't let this one trick you. Which one does NOT work? F implies something being rare and
becoming familiar.

Passage lii
Natural Science



“Consider the Eel”
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B Main idea again. All of the answers but one are correct in some way, they are just not the main
idea. C is incorrect.

H J is a plausible answer, but H was more correct because it encompasses the idea that the
adults have to travel back in order to reproduce.

D This paragraph mainly refers to what happens in the river. C is incorrect. Only one line refers to
determining the age. A is a good candidate but doesn't really transition to the ocean.

J This question is simply finding the answer in the passage in line 13-14. You could have mapped
this question and answered it easily.

B Another easy question because the answer is in the text. It follows the previous question and is
found in line 14.

G This question is relying on some outside knowledge of the Bermuda Triangle. Legends about
the Bermuda Triangle, in particular, are not necessarily well liked or most admired. There is no
proof in the passage they are scientifically accepted.

B “Read” should almost be in quotation marks here. Just as a scientist may “read” the age of a
tree from its rings, this statement is implying that the age of an eel can be “read” or “seen” by
looking at the rings on the skull.

F The answers in this question all seem plausible because they are referenced somewhere else
in the passage. The key is to find the specific place where the eels’ pupils are mentioned. That is
found in line 60.

A Again, all of the answers have been mentioned in the text. You must specifically find where it
mentions osmosis. That is found in line 62.

F Line 82 refers to “such small larvae” as an indication it was newly hatched. This question can
be answered by finding evidence in the text.
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SCIENCE SECTION EXPLAINED SOLUTIONS

1. Looking at the graph from Study 1, we can see that on Island B, the highest percent of finches had a
beak depth of 16 mm, because this was the highest bar in the graph. On island C, the highest percent of
finches had a beak depth of 16 mm because this was the highest bar in the graph. So the answer is D.

2. It says in the text that “small seeds are abundant during wet years” and sa by locking at the gragh for
Study 2, we find that the shortest bar in the graph is the wettest year. This yearis 1984, so smatt seeds
were likely most abundant during this year on every island. So the answer is J.

3. Thetwo studies differ because Study 2 mentions nothing about capturing G. fuliginosa finches which
were captured during Study 1, only G. fortis finches. So the answer is B.

4. Use your intuition on this one. Most researchers tag animals and so that they only courtt them once
and they can track the same bird. So the most likely answer is 1.

5. ook at the graph of Study 2. We see that the average beak depth during 1977 was 9.8 mm. 5o a bird
with a beak of 9.4 mm would not survive. So the answer is C.

6. Looking at the graphs for Study 1, we see that the G. fortis had much larger beak depths onistand 1
than an Island B, reaching a maximum depth of 17 mm. This supports the hypothesis that there wouid
be more variation in beak depths when they are forced to compete with species because this maximum
of 17 mm was reached when there was another species competing for the seeds on Island A. So the

answer js F.

7. Look at Figures 2 and 3. We notice that in February, SO442- was maximum in February and minimum
in July. So the answer is D.

8. Looking at the graph of Study 1 for the wet deposition for Cur2+, we see that the average is between
50 and 75. So the answer is G. '

9. Look at the graph for Study 2. Notice how the values for CI*- were all higher during November,
January, March, and April. So the Ci*- wet deposition was greater during the winter and spring months
so the hypothesis is supported. So the answer is A.

10. Is there had been no precipitation for that month, then there would be no wet deposition of any of
the 4 substances because there was no rainfall. So the answer is H.

11. Look at the graph for Study 3. The urban sites had the greatest wet deposition. As you moves further
away into the more rural sites, the wet deposition decreased for both substances. 5o the answer is €.

12. in the first paragraph of Study 1, it states that, “a rain gauge, placed on the roof of a 1-story building,
at a specific urban site was used 1o collect precipitation.” And the paragraph for Study 2 states that,
“Another portion of the combined sample for each month was analyzed...” This is the same sample that
was used in Study 1. Thus, the constant variable for Study 2 was the site. So the answer s F.

13. Examine Figure 1 because this is measuring the monthly average cover of high clouds. In 1987, the
average cover of clouds was around 13.5%. So the answer is B.
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29. Statement 5 states, “The more massive a star, the more rapidly the star passes through each of the 3
stages of its evolution.” Below this statement, we see that Algol B is a solar-mass POST-MS star. The
POST indicates that it passed through each of the stages of its evolution already. So the answer is B.

30. Statement 5 states, “The more massive a star, the more rapidly the star passes through each of the 3
stages of its evolution.” Because Algol A is more massive than Algol B, we know that Algol A will pass
through the 3 stages quicker. So the answer is H.

31. Look at Figure 2. Looking at the line for Kr we can see that it is slowly increasing. For 13g is would be
between 400 torr and 800 torr. So the answer is C.

32. Look at Figure 2 because this is a 6 L vessel which is closest to 5 L. The values in the 5 L would have
been a little higher than they are for the 6 L vessel. So the pressure exerted by the 7 g CO2 would have
been hetween 500 torr and 1000 torr. So the answer is G.

33. Compare the two different 02 lines at the same point. We find that the 3 L vessel is always twice as
high as the 6 L vessel. So the 6 L vessel will be % as great as in the 3 L vessel. So the answer is A.

34. By looking at the Figures we can see that 02 is always greater than CO2, so answers F and G are out.
We also know that there are more 02 molecules than CO2 molecules at any given time. So the answer is

J.

35. The current experiment is being done at 22 degrees. If the pressure was measured at 14 degrees
then the pressure would have been less because we know that pressure is proportional to temperature.
(Think of a blown up balloon on a hot day... the balloon shrinks as the temperature increases.) So the

answer is A,
36. The threshold of hearing line stops at 2 x 1071, which is the scientific notation for 20. So the answer
is G.

37. The question asks about hearing loss for HIGH frequencies. So the before loss line should be higher
than the after loss line on the graph. This is true for graph A. So the answer is A.

38. The question asks about the highest INTENSITY, which is what is being measured on the x-axis. So
the highest value is when $=100% in the water. So the answer is F.

39. This hypothesis is not supported because the maximum Hz threshold of pain is 2 x 10*4. 10"5 cannot
even be heard. So the answer is C.

40. The question asks if S depends on the frequency of the sound wave. It does not because as the
frequency increases along the y-axis, S remains constant. So the answer is J.




